Chapter 3

REPRODUCTION

Lesson 1:  What is asexual 
***-Heredity, your environment, and learned traits are what make up all of an organisms traits.  

-An example of a learned trait would be superior athletic ability or superior musical talents.  

-When fishers caught sea stars, they cut them into pieces and threw them back into the water.  The fishers later saw that the sea stars reproduced and made many new stars.  The sea stars reproduced asexually from body parts.

-Asexual Reproduction is when an organism reproduces with only one parent cell.  

-When a parent cell splits to produce two offspring cells of the same size is called fission.  The offspring can double every 20 minutes.  This is the fastest form of Asexual reproduction.  
-During the process of budding, a cell in the parent’s body produces a small version of the parent.
-A Spore is a reproductive cell that has a nucleus and a little bit of cytoplasm.  This is a hard coat that covers the spores.  This coat protects the spore when conditions in the environment might be harmful.  

*What are 3 examples of asexual reproduction? 

-Mitosis, budding, and spore formation-
Lesson 2: How are traits passed on? (Pgs. 58-61)

-New organisms that result from asexual reproduction will have identical traits as the parents.

-You can determine the kind of organism a cell belongs to by studying the cell’s DNA.

*There is no relationship between a species’ number of chromosomes and the sizes of the individual organisms.

*When DNA “unzips” the base pairs come apart.  

-A gene is a series of base pairs or rungs.  The base pairs that go together are AT and CG.  

-DNA looks like a twisted ladder.

-If an error happens during mitosis, a mutation in the cell will occur.  

-The Human Genome Project mapping all the genes on the human chromosome.  

-Human beings have 46 chromosomes.  

-The way bases are paired determines the instructions they give to the cell.  If any base could pair with any other base, the new strands of DNA would not be identical.  

Lesson 3:  What is Sexual Reproduction? (Pgs. 62-67)

-Sexual Reproduction is when reproduction with two parents.  There are two parent cells involved in sexual reproduction.  Those cells are called Sex Cells.

-The male sex cell is called the Sperm Cell.

-The Female sex cell is called the Egg Cell.

-These sex cells are created through the process of meiosis.  During Meiosis, one cell divides into four new cells.  Each new cell has only half the number of chromosomes of the parent cell.  

-Human beings have 46 chromosomes.  Therefore, the sperm cell has 23 chromosomes and the egg cell has 23 chromosomes as well.

· When the sperm and egg cell unite, the sperm cell Fertilizes the egg.

· Once the sperm cell fertilizes the egg, a new cell is formed.  That new cell is called a Zygote.  The zygote will then go through mitosis many times, to create many more cells.  

-Flowering plants reproduce sexually.  The male sex cell of flowering plants is the pollen.   The pollen is produced by the Stamen.  The female egg cell is produced at the bottom of the flowering plant, this is called the Pistil. 
-For a flowering plant to reproduce, the pollen must get from a stamen to a pistil.  This process is called  Pollination.  

-Pollen is transferred from a stamen to a pistil in many ways.  The wind, water, insects, and some mammals help move the pollen to other plants.

-External Fertilization is when fertilization takes place outside the female’s body.  

-During external fertilization, animals release sperm and egg cells into water.  The sperm swims to the egg cell and fertilizes the egg.  Billions of sperm and egg cells are released at one time.  So many sex cells are released because predators eat those cells, severe weather will disrupt those cells, and sometimes pollution will kill those cells.

*Why are there generally more egg and sperm cells produced during external fertilization than during internal fertilization?

In external fertilization, many egg and sperm cells might be killed by predators or die because of environmental factors.  More egg and sperm cells are needed to ensure that some of them form new organisms.
-Land animals cannot reproduce externally because the egg and sperm cells would dry out and die.   The reason being is that fertilized eggs need moisture.

-In sexual reproduction the offspring share characteristics of both parents.  Therefore, they are not identical.  This is because the zygote, has half of the chromosomes from the egg cell, and the other half from the sperm cell.    

*What are the advantages and disadvantages of asexual reproduction and sexual reproduction?

Asexual Reproduction
Advantages:  Happens quickly, Takes less energy, only one parent cell is involved, and offspring is identical to parent cell.  

Disadvantages:  Because all cells are identical, a change in the environment can destroy them all.  

Sexual Reproduction
Advantages:  Because the organisms are different, some of them may have the traits needed to survive in the event of an environmental change.  

Disadvantages:  Slower, requires more energy, need two parent cells.

Lesson 4:  How do genes determine traits?  (Pgs. 68-73)
-Genes work together to form individual traits.  

-In sexual reproduction the offspring gets traits from BOTH parents.  That is why the offspring in sexual reproduction will not be identical to the parent.

-For many traits an individual has a pair of genes, one gene from each parent.  But genes have different versions.  

-A version of a gene that masks the effect of another version is called a dominant trait.  The trait that is hidden is called the recessive trait.  

A male dog is purebred for the dominant trait of a black coat (B).  A female dog is purebred for the recessive trait of a white (b) coat.  What coat will their offspring have?
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The dog will have a black coat.

Selective Breeding:  Selecting a few organisms with desired traits to serve as parents of offspring.  This is not natural.  

*An organism with one dominant and one recessive version of a trait is called a hybrid.  

*If a horse has 64 chromosomes, how many chromosomes will a horse’s sperm cell have?

-32 Chromosomes

*Give two reasons why people use selective breeding to change characteristics in plants.

1.  Larger plants

2.  Better tasting

3.  Resistance to diseases

4.  Resistance to drought

*What is an example of a learned trait?

-Superior athletic performance

*When Collin caught the sea stars and chopped them up.  How did the sea stars reproduce?

-Asexually from body parts-

*What did the human genome project do?

-Mapped out all the DNA base pairs in human beings.  

*In which part of a flowering plant does fertilization occur?

-Ovules-
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